Research and Communications in Mathematics and Mathematical Sciences Vol. 2, Issue 2, 2013, Pages 61-76 ISSN 2319-6939 Published Online on April 10, 2013 © 2013 Jyoti Academic Press http://jyotiacademicpress.net

ON THE STABILITY OF σ QUADRATIC FUNCTIONAL EQUATION

IZ. EL-FASSI, N. BOUNADER, A. CHAHBI and S. KABBAJ

Department of Mathematics Faculty of Sciences University of Ibn Tofail Kenitra Morocco e-mail: Izidd-math@hotmail.fr

Abstract

In this paper, we establish the generalized Hyers-Ulam stability of the equation

$$f(ax + by) = a^2 f(x) + b^2 f(y) + \frac{ab}{2} [f(x + y) - f(x + \sigma(y))],$$

and

$$f(ax + by) = a^2 g(x) + b^2 h(y) + \frac{ab}{2} [f(x + y) - f(x + \sigma(y))]$$

on Banach spaces, by using the fixed theorem.

2010 Mathematics Subject Classification: 39B82, 39B52, 47H10.

Keywords and phrases: stability, quadratic functional equation, Banach spaces, fixed point method.

Communicated by Erdal Karapinar.

Received November 23, 2012; Revised December 25, 2012

IZ. EL-FASSI et al.

1. Introduction

The problem of the stability of functional equation has originally been started by Ulam [25]. Hyers [10] gave a first affirmative partial answer to the question of Ulam for Banach spaces. Hyers theorem was generalized by Aoki [1] for additive mappings and by Rassias [22] for linear mappings. The paper of Rassias [22] has been an influential in the development of what is now known as the generalized Hyers-Ulam stability or Hyers-Ulam-Rassias stability of functional equations. A generalization of the Rassias theorem was obtained by Gavruta [9] by replacing the unbounded Cauchy difference by a general control function in the spirit of Rassias approach. The functional equation

$$f(x + y) + f(x - y) = 2f(x) + 2f(y),$$
(1.1)

is called the quadratic functional equation. A generalized Hyers-Ulam stability for the quadratic functional equation was proved by Skof [24] for the function $f: X \to Y$, where X is a normal space and Y is a Banach space. Cholewa [3] noticed that the theorem of Skof is still true if the relevant domain X is replaced by an abelian group. Czerwik [4] proved the Hyers-Ulam-Rassias stability of the quadratic functional equation (1.1). Park [19] proved the generalized Hyers-Ulam stability of the quadratic functional equation in Banach modules over a \mathbb{C}^* algebra. The stability problem of several functional equation have been extensively investigated by number of mathematicians ([2], [13], [14], [15], [17], [18], [19], [22]).

We recall the following theorem by Diaz and Marglis: Let X be a set, a function $d: X \times X \to [0, \infty]$ is called a generalized metric on X if d satisfies

- (1) d(x, y) = 0 if and only if x = y.
- (2) d(x, y) = d(y, x) for all $x, y \in X$.
- (3) $d(x, z) \le d(x, y) + d(y, z)$ for all $x, y, z \in X$.

Theorem 1.1 ([8]). Let (X, d) be a complete generalized metric space and $J : X \to X$ be a strict contractive mapping with a Lipschitz constant $L \leq 1$. Then for each given element $x \in X$, either $d(J^n x, J^{n+1} x) = \infty$ for all nonnegative integer n or there exists a positive integer n_0 such that

(1)
$$d(J^n x, J^{n+1} x) \prec \infty \forall n \ge n_0;$$

(2) the sequence $J^n x$ converge to a fixed y^* for J;

(3) y^* is the unique fixed point of J in the set $Y = \{y \in X, d(J^{n_0}x, y) \prec \infty\}$.

In [16], Najati and Park showed that the functional equation

$$f(ax + by) = a^{2}f(x) + b^{2}f(y) + \frac{ab}{2}[f(x + y) - f(x - y)], \qquad (1.2)$$

is equivalent to the quadratic functional equation (1.1), if a, b are rational numbers such that $a^2 + b^2 \neq 1$ and, they proved the stability problem of this equation.

Throughout this paper, assume that X is a normed vector space with $\|.\|$, Y is a Banach space with norm $\|.\|$, and suppose $\sigma(\sigma(x)) = x$ for all $x \in X$. In this paper, using the fixed point theorem, we will prove the generalized stability of the following equation:

$$f(ax + by) = a^{2}f(x) + b^{2}f(y) + \frac{ab}{2}[f(x + y) - f(x + \sigma(y))], \qquad (1.3)$$

and

$$f(ax + by) = a^2 g(x) + b^2 h(y) + \frac{ab}{2} [f(x + y) - f(x + \sigma(y))].$$
(1.4)

2. Hyers-Ulam Stability of Quadratic Functional Equations

In this section, we take $f : X \to Y$ and we define

$$Df(x, y) = f(ax + by) - a^2 f(x) - b^2 f(y) - \frac{ab}{2} [f(x + y) - f(x + \sigma(y))],$$

and

64

$$Df_g^h(x, y) = f(ax + by) - a^2g(x) - b^2h(y) - \frac{ab}{2}[f(x + y) - f(x + \sigma(y))]$$

where *a*, *b* in $\mathbb{N} - \{0, 1\}$.

Theorem 2.1. A mapping $f : X \to Y$ satisfies

$$f(ax + by) = a^{2}f(x) + b^{2}f(y) + \frac{ab}{2}[f(x + y) - f(x + \sigma(y))], \qquad (2.1)$$

if and only if f satisfies

$$f(x + y) + f(x + \sigma(y)) = 2f(x) + 2f(y) \text{ and } f(x + \sigma(x)) = 0,$$
 (2.2)

for all $x, y \in X$.

Proof. Suppose that (2.1) holds. Since $a^2 + b^2 \neq 1$, letting x = y = 0 in (2.1), we get f(0) = 0. Letting y = 0 in (2.1), we obtain

$$f(ax) = a^2 f(x), \tag{2.3}$$

for all $x \in X$, and putting x = 0, we get

$$f(by) = b^2 f(y) + ab(f(y) - f(\sigma(y))), \qquad (2.4)$$

for all $y \in Y$. Now putting x = bx and y = ay in (2.1), we get

$$f(abx + aby) = a^{2}f(bx) + b^{2}f(ay) + \frac{ab}{2}(f(bx + ay) - f(bx + a\sigma(y))), \quad (2.5)$$

for all x, y in X. Letting $y = \sigma(y)$ in (2.5), we get

$$f(abx + ab\sigma(y)) = a^2 f(bx) + b^2 f(a\sigma(y)) + \frac{ab}{2} (f(bx + a\sigma(y)) - f(bx + ay)),$$

(2.6)

for all x, y in X, by (2.2), (2.5), and (2.6) and we obtain

$$f(bx + by) + f(bx + b\sigma(y)) = 2f(bx) + b^2(f(y) + f(\sigma(y))).$$
(2.7)

Using (2.4), we get

$$f(by) + f(b\sigma(y)) = b^2(f(y) + f(\sigma(y))).$$

Then

$$f(bx + by) + f(bx + b\sigma(y)) = 2f(bx) + (f(by) + f(b\sigma(y))).$$
(2.8)

Then, f satisfies

$$f(x + y) + f(x + \sigma(y)) = 2f(x) + (f(y) + f(\sigma(y))),$$
(2.9)

we replace x and y by $x + \sigma(x)$ in (2.9), we obtain

$$f(2(x + \sigma(x))) = 2f(x + \sigma(x)).$$

Now, we will prove that f satisfies $f(x + \sigma(x)) = 0$ for all $x \in X$. By applying the inductive argument, we show that

$$f(n(x + \sigma(x))) = nf(x + \sigma(x)),$$

for all $x \in X$ and for all $n \in \mathbb{N}$. Replacing x and y by $x + \sigma(x)$, we find $f(2(x + \sigma(x))) = 2f(x + \sigma(x))$. Writing $n(x + \sigma(x))$ instead of x and $x + \sigma(x)$ instead of y in (2.9), we get

$$f((n+1)(x + \sigma(x))) = (n+1)f(x + \sigma(x)).$$

This proves for all $n \in \mathbb{N}$. By using (2.4), we obtain $b^2 f(x + \sigma(x)) = bf(x + \sigma(x))$ for all $x \in X$, since $b \neq 1$ and $f(b(x + \sigma(x)) = bf(x + \sigma(x))$, then we get $f(x + \sigma(x)) = 0$, for all $x \in X$, we replace x and y by x in (2.9), we get

$$f(2x) = 3f(x) + f(\sigma(x)),$$

we use the inductive argument to prove that there exists α_n and β_n such that $\alpha_n^2 + \beta_n^2 = n^2$ and

$$f(nx) = \alpha_n f(x) + \beta_n f(\sigma(x)),$$

we have

$$f((n+1)x) + f((n-1)x + x + \sigma(x)) = 2f(nx) + f(x) + f(\sigma(x)),$$

and

$$f((n-1)x + x + \sigma(x)) = f((n-1)x).$$

Then

$$f((n+1)x) = (2\alpha_n - \alpha_{n-1} + 1)f(x) + (2\beta_n - \beta_{n-1} + 1)f(\sigma(x)),$$

this complete inductive argument. By $f(ax) = \alpha_n f(x) + \beta_n f(\sigma(x))$ and $f(ax) = a^2 f(x)$, we get $f(\sigma(x)) = f(x)$.

We shall now prove the converse. Let $f: E \to F$ be a solution of Equation (2.2). Replacing x by (n-1)x and y by $x + \sigma(x)$ in (2.2), we obtain the equation $f(nx + \sigma(x)) = f((n-1)x)$, for all $x \in E$ and for all $n \in \mathbb{N}^*$. We will prove by the mathematical induction that

$$f(nx + y) = n^2 f(x) + f(y) + \frac{n}{2} (f(x + y) - f(x + \sigma(y))).$$
(2.10)

The result for n = 1 is immediately.

We prove now (2.10) is satisfied for n + 1. By using the hypothesis inductive, we find that

$$f((n+1)x + y) = n^2 f(x) + f(x + y) + \frac{n}{2} (f(2x + y) - f(x + \sigma(x) + \sigma(y))).$$

We have

$$f(x + \sigma(x) + \sigma(y)) = f(\sigma(y)) = f(y),$$

then we get the result. Finally, we have

$$f(nx) = n^2 f(x),$$
 (2.11)

for all $n \in \mathbb{N}$,

$$f(ax + by) = a^{2}f(x) + f(by) + \frac{a}{2}(f(x + by) - f(x + b\sigma(y))),$$

66

$$f(x + by) = b^2 f(y) + f(x) + \frac{b}{2} (f(x + y) - f(\sigma(x) + y)),$$
$$f(x + b\sigma(y)) = b^2 f(\sigma(y)) + f(x) + \frac{b}{2} (f(x + \sigma(y)) - f(x + \sigma(y))).$$

Since *f* is even, we get the result. This completes the proof of Theorem 2.1. \square

Using the fixed point method, we prove the stability of the σ -quadratic functional equation Df(x, y) = 0.

Theorem 2.2. Let $f: X \to Y$ for which there exists a function $\phi: X^2 \to [0, \infty)$

$$\|Df(x, y)\| \le \phi(x, y), \tag{2.12}$$

for all $x, y \in X$, and $\psi(x, y) = \phi(x, y) + \phi(0, 0)$ such that

$$\lim_{n \to +\infty} a^{-2n} \phi(a^n x, a^n y) = 0, \qquad (2.13)$$

for all $x \in X$. Let $L \prec 1$ such that $\phi(x, 0) \leq a^2 L \phi(\frac{x}{a}, 0)$, for all $x \in X$. Then there exists a mapping $Q : X \to Y$ satisfying (2.2) and

$$\|f(x) - f(0) - Q(x)\| \le \frac{1}{a^2 - a^2 L} \psi(x, 0), \qquad (2.14)$$

for all $x \in X$.

Proof. Considering F(x) = f(x) - f(0), the inequality (2.12) becomes $||DF(x, y)|| \le \psi(x, y)$. Let the set

$$S = \{g : X \to Y\},\tag{2.15}$$

and introduce the generalized metric on S as follows:

$$d(g, h) = \inf \{ K \in \mathbb{R}_+ : \|g(x) - h(x)\| \le K \psi(x, 0), \ \forall x \in X \}.$$
(2.16)

It is easy to show that (S, d) is complete. (see the proof of Theorem 2.5 of [8]). Now, we consider the linear mapping $J: S \to S$ such that

$$Jg(x) := \frac{1}{a^2} g(ax),$$
 (2.17)

for all $x \in X$.

We have

$$\left\|\frac{g(ax)}{a^2} - \frac{h(ax)}{a^2}\right\| \le \frac{d(g, h)\psi(ax, 0)}{a^2} \le Ld(g, h),$$

then

$$d(Jg, Jh) \le Ld(g, h), \tag{2.18}$$

for all $x \in S$.

Letting y = 0 and in (2.12), we get

$$\|f(ax) - a^2 f(x)\| \le \psi(x, 0), \tag{2.19}$$

for all $x \in X$. So

$$d(F, JF) \le \frac{1}{a^2}, \qquad (2.20)$$

By Theorem 1.1, there exists a mapping $Q: X \to Y$ satisfying the following:

(1) Q is a fixed point of J, that is,

$$Q(ax) = a^2 Q(x), \tag{2.21}$$

for all $x \in X$. The *Q* is a unique fixed point of *J* in the set

$$M = \{ g \in S : d(f, g) \le \infty \}.$$
(2.22)

This implies that Q is a unique mapping (2.9) such that there exists $K \in (0, \infty)$ satisfying

$$\|F(x) - Q(x)\| \le K\psi(x, 0), \tag{2.23}$$

for all $x \in X$.

(2)

$$\lim_{n \to +\infty} J^n F(x) = \lim_{n \to +\infty} \frac{F(a^n x)}{a^{2n}} = Q(x), \qquad (2.24)$$

for all $x \in X$.

(3) $d(F, Q) \leq \frac{1}{1-L} d(F, JF)$, which implies the inequality

$$d(F, Q) \le \frac{1}{a^2 - a^2 L}.$$
 (2.25)

This implies that the inequality (2.14) holds.

It follows from (2.12), (2.13), and (2.24) that

$$\|D(Q(x, y))\| = \lim_{n \to +\infty} \frac{\|DF(a^n x, a^n y)\|}{a^{2n}} \le \lim_{n \to +\infty} \frac{\psi(a^n x, a^n y)}{a^{2n}} = 0, \quad (2.26)$$

for all $x, y \in X$. So DQ(x, y) = 0 for all $x, y \in X$.

Corollary 2.3. Let $p \prec 2$ and $\theta \ge 0$ be real numbers, and let $f: X \rightarrow Y$ be a mapping such that

$$\|Df(x, y)\| \le \theta(\|x\|^p + \|y\|^p), \qquad (2.27)$$

for all $x, y \in X$. Then, there exists a unique mapping $Q: X \to Y$ satisfying (2.2) and

$$\|f(x) - Q(x)\| \le \frac{1}{a^2 - a^p},$$
(2.28)

for all $x \in X$.

Proof. We get the result from Theorem 2.2 by taking

$$\phi(x, y) := \psi(x, y) := \theta(\|x\|^p + \|y\|^p), \qquad (2.29)$$

for all $x, y \in X$. We have f(0) = 0, by letting x = y = 0 in (2.28) and we can choose $L = b^{p-2}$, then we get the desired result.

Theorem 2.4. Let $f, g, h : X \to Y$ be an even mapping for which there exists a function $\phi : X^2 \to [0, \infty)$ satisfying

$$\|Df_g^h(x, y)\| \le \phi(x, y), \qquad (2.30)$$

and

$$\lim_{n \to +\infty} 2^{-2n} \phi(2^n x, 2^n y) = 0.$$
 (2.31)

Let $\Phi(x, y) = \phi(x, y) + \phi(0, 0)$ and let

$$\psi(x, y) = \Phi\left(\frac{x}{a}, \frac{y}{b}\right) + \Phi\left(\frac{x}{a}, \frac{\sigma(y)}{b}\right) + 2\Phi\left(\frac{x}{a}, 0\right) + 2\Phi\left(0, \frac{y}{b}\right),$$

and $L \prec 1$ such that

$$\psi(x, x) \le 4L(\psi(\frac{x}{2}, \frac{x}{2})),$$
 (2.32)

for all $x \in X$. Then, there exists a unique mapping $Q : X \to Y$ satisfying (2.1) and

$$\left\| f(x) - \frac{1}{2} (f(x + \sigma(x)) + f(0)) - Q(x) \right\| \le \frac{1}{4(1 - L)} (\psi(x, x) + \psi(x + \sigma(x), x + \sigma(x)),$$
(2.33)

$$\begin{split} \left\| g(x) - \frac{1}{2} \left(g(x + \sigma(x)) + g(0) \right) - Q(x) \right\| &\leq \frac{1}{a^2} \left(\Phi(x, 0) + \frac{1}{2} \left(\Phi(x + \sigma(x)) \right) \right) \\ &+ \frac{1}{4(1 - L)} (\psi(x, x) + \psi(x + \sigma(x), x + \sigma(x))), \end{split}$$

and

$$\left\|h(x) - \frac{1}{2}(h(x + \sigma(x)) + h(0)) - Q(x)\right\| \le \frac{1}{b^2}(\Phi(0, x) + \frac{1}{2}(\Phi(0, x + \sigma(x))))$$

$$+\frac{1}{4(1-L)}(\psi(x, x)+\psi(x+\sigma(x), x+\sigma(x))),$$

for all $x \in X$.

Proof. Put
$$F(x) = f(x) - f(0)$$
, $G(x) = g(x) - g(0)$, $H(x) = h(x) - h(0)$,
we have

$$\|DF_G^H(x, y) + DF_G^H(x, \sigma(y)) - 2DF_G^H(x, 0) - 2DF_G^H(0, y)\| \le \psi(ax, by),$$
(2.34)

for all $x, y \in X$. Therefore,

$$||F(ax + by) + F(ax + b\sigma(y)) - 2F(x) - 2F(y)|| \le \psi(ax, by),$$
(2.35)

for all $x, y \in X$. Replacing x by $\frac{x}{a}$ and y by $\frac{y}{b}$ in (2.35), we get

$$\|F(x+y) + F(x+\sigma(y)) - 2F(x) - 2F(y)\| \le \psi(x, y),$$
(2.36)

for all $x, y \in X$. Consider the set

$$S = \{l : X \to Y\},\$$

and introduce the generalized metric on S as follows:

$$d(l, k) = \inf \{ K \in \mathbb{R}_+ : \|l(x) - k(x)\| \le K(\Psi(x)), \forall x \in X \},\$$

with $\Psi(x) = \psi(x, x) + \frac{1}{4}\psi(x + \sigma(x), x + \sigma(x))$. It is easy to show that (S, d) is complete. (See the proof of Theorem 2.5 of [8].)

Now put $F_1(x, y) = F(x) - \frac{1}{2}F(x + \sigma(x))$, we use the inequality (2.36) and we replace x by $x + \sigma(x)$ and y by $y + \sigma(y)$ in (2.36), we get

$$\|F_1(x+y) - F_1(x+\sigma(y)) - 2F_1(x) - 2F_1(y)\| \le \psi(x, x) + \frac{1}{4}(\psi(x+\sigma(x), y+\sigma(y))).$$

If you replace in the first x and y by x in (2.36) and in the second x and y by $x + \sigma(x)$ in (2.37), we obtain

$$\|F_1(2x) - 4F_1(x)\| \le \Psi(x). \tag{2.38}$$

Now, we consider the linear mapping $J: S \to S$ such that

$$Jk(x) \coloneqq \frac{k(2x)}{4}, \qquad (2.39)$$

for all $x \in X$.

Similar to the proof of Theorem 2.3, we deduce that the sequence $J^n F_1$ converges to a fixed point Q of J. Also Q is the unique fixed point of J on the set $M = \{g \in S : d(f, g) < \infty\}$, hence Q satisfies (2.2) and Q(2x) = 4Q(x), then $Q(x + \sigma(x)) = 0$, so Q is solution of (2.1) and satisfying (2.33).

Now, we put $G_1(x) = G(x) - \frac{1}{2}G(x + \sigma(x))$ and $H_1(x) = H(x) - \frac{1}{2}H(x + \sigma(x))$ by (2.30), we have

$$||F_1(ax) - a^2 G_1(x)|| \le \Phi(x, 0) + \frac{1}{2} \Phi(x + \sigma(x), 0),$$

and

$$||F_1(ax) - b^2 H_1(x)|| \le \Phi(0, x) + \frac{1}{2} \Phi(0, x + \sigma(x)).$$

Then, we get

$$\begin{split} \|Q(ax) - a^2 G_1(x)\| &\leq \Phi(x, 0) + \frac{1}{2} \Phi(x + \sigma(x), 0) \\ &+ a^2 \frac{1}{4(1-L)} (\psi(x, x) + \psi(x + \sigma(x), x + \sigma(x))), \end{split}$$

and

$$\|Q(bx) - b^2 H_1(x)\| \le \Phi(0, x) + \frac{1}{2} \Phi(0, x + \sigma(x))$$

+
$$b^2 \frac{1}{4(1-L)} (\psi(x, x) + \psi(x + \sigma(x), x + \sigma(x)))$$

which ends the proof.

Corollary 2.5. Let $f : X \to Y$ be mapping and a, b in \mathbb{N}^* , for which there exists a function $\phi : X^2 \to [0, \infty)$ satisfying

$$\|Df(x, y)\| \le \phi(x, y), \tag{2.40}$$

and

$$\lim_{n \to +\infty} 2^{-2n} \phi(2^n x, 2^n y) = 0.$$
 (2.41)

Let $\Phi(x, y) = \phi(x, y) + \phi(0, 0)$ and let

$$\psi(x, y) = \Phi\left(\frac{x}{a}, \frac{y}{b}\right) + \Phi\left(\frac{x}{a}, \frac{\sigma(y)}{b}\right) + 2\Phi\left(\frac{x}{a}, 0\right) + 2\Phi\left(0, \frac{y}{b}\right),$$

and $L \prec 1$ such that

$$\psi(x, x) \le 4L(\psi(\frac{x}{2}, \frac{x}{2})),$$
 (2.42)

for all $x \in X$. Then, there exists a unique mapping $Q : X \to Y$ satisfying (2.1) and

$$\left\| f(x) - \frac{1}{2} \left(f(x + \sigma(x)) - f(0) \right) - Q(x) \right\| \le \frac{1}{4(1 - L)} \left(\psi(x, x) + \psi(x + \sigma(x), x + \sigma(x)) \right).$$
(2.43)

Corollary 2.6. Let $f, g, h : X \to Y$ be an even mapping for which there exists a function $\phi : X^2 \to [0, \infty)$ satisfying

$$\left\| f(ax+by) - a^2 f(x) + b^2 h(y) - \frac{ab}{2} \left(f(x+y) - f(x-y) \right) \right\| \le \phi(x, y), \quad (2.44)$$

and

$$\lim_{n \to +\infty} 2^{-2n} \phi(2^n x, 2^n y) = 0.$$
 (2.45)

Let $\Phi(x, y) = \phi(x, y) + \phi(0, 0)$ and let

$$\psi(x, y) = \Phi(\frac{x}{a}, \frac{y}{b}) + \Phi(\frac{x}{a}, \frac{-y}{b}) + 2\Phi(\frac{x}{a}, 0) + 2\Phi(0, \frac{y}{b}),$$

and L < 1 such that

$$\psi(x, x) \le 4L(\psi(\frac{x}{2}, \frac{x}{2})),$$
(2.46)

for all $x \in X$. Then, there exists a unique mapping $Q : X \to Y$ satisfying (2.1)

$$\|f(x) - f(0) - Q(x)\| \le \frac{1}{4(1-L)} (\psi(x, x) + \psi(0, 0)), \tag{2.47}$$

$$\|g(x) - g(0) - Q(x)\| \le \frac{1}{a^2} \Phi(x, 0) + \frac{1}{2} \Phi(0, 0) + \frac{1}{4(1-L)} (\psi(x, x) + \psi(0, 0)),$$

and

$$\|h(x) - h(0) - Q(x)\| \le \frac{1}{b^2} \Phi(0, x) + \frac{1}{2} \Phi(0, 0) + \frac{1}{4(1-L)} (\psi(x, x) + \psi(0, 0)),$$

for all $x \in X$.

Proof. By Theorem 2.4 and $\sigma(x) = -x$, we get the result.

References

- T. Aoki, On the stability of the linear transformation n Banach spaces, J. Math. Soc. Japan 2 (1950), 64-66.
- [2] B. Bouikhalene, E. Elqorachi and Th. M. Rassias, On the generalized Hyers-Ulam stability of the quadratic functional equation with a general involution, Nonlinear Funct. Anal. Appl. 12 (2007), 247-262.
- [3] P. W. Cholewa, Remarks on the stability of functional equations, Aequationes Mathematicae 27(1-2) (1984), 76-86.
- [4] St. Czerwik, On the stability of the quadratic mapping in normed spaces, Abhandlungen aus dem Mathematischen Seminar der Universitat Hamburg, 62 (1992), 59-64.
- [5] L. Cadariu and V. Radu, Fixed points and the stability of Jensens functional equation, Journal of Inequalities in Pure and Applied Mathematics 4(1) (2003), Article 4.

- [6] L. Cadariu and V. Radu, On the Stability of the Cauchy Functional Equation: A Fixed Point Approach, in Iteration Theory, Vol. 346 of Grazer Mathematische Berichte, pp. 43-52, Karl-Franzens-Universiteat Graz, Graz, Austria, 2004.
- [7] A. Charifi, B. Bouikhalene and S. Kabbaj, Hyers-Ulam-Rassias, stability of (n; k)-forms additive functional equations, Nonlinear Functional Analysis and Applications (2007).
- [8] J. B. Diaz and B. Margolis, A fixed point theorem of the alternative, for contractions on a generalized complete metric space, Bulletin of the American Mathematical Society 74 (1968), 305-309.
- [9] P. Gavruta, A generalization of the Hyers-Ulam-Rassias stability of approximately additive mappings, Journal of Mathematical Analysis and Applications 184(3) (1994), 431-436.
- [10] D. H. Hyers, On the stability of the linear functional equation, Proceedings of the National Academy of Sciences of the United States of America 27(4) (1941), 222-224.
- [11] G. Isac and Th. M. Rassias, Stability of additive mappings: Applications to nonlinear analysis, International Journal of Mathematics and Mathematical Sciences 19(2) (1996), 219-228.
- [12] K. W. Jun and Y. H. Lee, On the Hyers-Ulam-Rassias stability of a pexiderized quadratic inequality, Mathematical Inequalities Applications, 4(1) (2001), 93-118.
- [13] S. M. Jung, On the Hyers-Ulam stability of the functional equations that have the quadratic property, Journal of Mathematical Analysis and Applications 222(1) (1998), 126-137.
- [14] S. M. Jung and P. K. Sahoo, Stability of a functional equation of Drygas, Aequationes Math. 64 (2002), 263-273.
- [15] M. Mirzavaziri and M. S. Moslehian, A fixed point approach to stability of a quadratic equation, Bulletin of the Brazilian Mathematical Society 37(3) (2006), 361-376.
- [16] A. Najati and C. Park, Fixed Points and Stability of a Generalized Quadratic Functional Equation, Hindawi Publishing Corporation, Journal of Inequalities and Applications, Volume 2009, Article ID 193035, 19 pages doi:10.1155/2009/193035.
- [17] C. G. Park, On the stability of the quadratic mapping in Banach modules, Journal of Mathematical Analysis and Applications 276(1) (2002), 135-144.
- [18] C. G. Park and Th. M. Rassias, Hyers-Ulam stability of a generalized Apollonius type quadratic mapping, Journal of Mathematical Analysis and Applications 322(1) (2006), 371-381.
- [19] C. G. Park, On the stability of the quadratic mapping in Banach modules, Journal of Mathematical Analysis and Applications 276(1) (2002), 135-144.
- [20] C. G. Park, Fixed points and Hyers-Ulam-Rassias stability of Cauchy-Jensen functional equations in Banach algebras, Fixed Point Theory and Applications, Vol. 2007, Article ID 50175, 15 pages, 2007.

IZ. EL-FASSI et al.

- [21] C. G. Park, Generalized Hyers-Ulam Stability of Quadratic Functional Equations: A Fixed Point Approach, Hindawi Publishing Corporation, Fixed Point Theory and Applications, Volume 2008.
- [22] Th. M. Rassias, On the stability of linear mapping in Banach spaces, Proc. Amer. Math. Soc. 72 (1978), 297-300.
- [23] Th. M. Rassias, On the stability of functional equations in Banach spaces, Journal of Mathematical Analysis and Applications 251(1) (2000), 264-284.
- [24] F. Skof, Local properties and approximation of operators, Rendiconti del Seminario Matematico e Fisico di Milano 53 (1983), 113-129.
- [25] S. M. Ulam, Problems in Modern Mathematics, John Wiley and Sons, New York, NY, USA, 1964.
- [26] D. L. Yang, Remarks on the stability of Drygas equation and the Pexider-quadratic equation, Aequationes Math. 68 (2004), 108-116.